FA1R FARDHE FIR2

FRIROFR TR

No.Z2 e | /10 =

ROFEZELLESN,

1 + 2 x4 3
2 4 3 x4 75
3) 4 24 =4 3
4 v 6 x (- 24 3)

5) ¥ 6 = « 27
6) + 8 = 4 12
7) 84 24 + 2 4 6

@) 4 30 x 4/ 60 = 4 20

@ + 24 +4 8 x4 3

(10) v 4 .V 8
12 "6
BRI THEZZHEEBE T

http://chugaku.manabihiroba.net/ 1



FA1R FARDHE FIR2

BE
(1) 4 6
2) 4 3x3x 25 = 3 25 = 15

3) 4 8 = 2 4 2

4 - 24 18 = - 2 x 3 2 = — 6 4 2
5) /6 =\/7 A
27 9 3
(6)\/73__\/7_ J 6
12 3 3
(7) 44 4 = 4 x 2 = 8

(8)\/ 30 X 60 \/ %0
20

(9) 24 X 3 _
\/ 8 ‘\/ ?

(10) v 4 6 1 N2

X — —

12 Jv 8 24 2 4

I
w
:‘

B|ETEZSPFEFETI L
http://chugaku.manabihiroba.net/ 2



